Chapter 6 Final Review

1. Write the equation for the line, in slope - intercept form, for each graph.

a) b)
5 . < 5 | J."j'./
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|j = -2x+0
3 y=3x-2
4
2. Write the equation for the line, in slope — point form, for each graph.
a) b) ,
(=3 [T (3,-3) VAN
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ms= =
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g-g. H M(X’X|)

Y+l =-1(x+3)
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y+3 = <1(x-3)
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3. Find the slope of aline that passes through the following points:

a) 4 (-4,3) and B (2, -5) b) C(2,-7) and D (-1, 5)

ms=-5-3

. -8 =Y m:5-¢-1) = 12 = -4
2-4) 6 3 “1-2 -3
c) E(-7,18) and F (14, é) d) G (8,-4) and H (48, 1)
m=6-18 = =I2 = -4 m=_1-(4) -5 - _L
“w-tn 2l 7 4g-8 4% 8

4]
¢ d
4. Write the equation for a line that passes through (5, - n

2) and is perpendicular to ¥ =3%+3 .
TN
a) slope - point form

b) slope —intercept form — m= .-%
5".10""0&)(.) yri = ’-@)
y=(2)= °-sl<x-5)

e gy (33
y+2: ’%(x-s)

=2 ~Z
23

= -.I.x-I-E __1_
Y 3 3 I
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ys "3**3°3
5. Write the equation for a line that passes through (-4, 1) and (8, -8). } vse poin'B ) fl’nd “m”
a) slope - point form

:

b) slope — intercept form f"s."
m= -%-| -9 -

.29 . -3 -1= -2 (%+4) +8 = 3 (x-g)
e n R S
B=-2x+6
-y, = - -l=-3y4-3 g 4
Yo = mOex) g 7 s -8
y=-3x-2 @
or 4 W
- same resul
d .
+8 = -3(x-8) 3y ¢
80
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6. Rewrite the following linear functions in general form.

o V2= 3(¥+3) ) =14
y-2=-3x-I5 B
+5

g1 2f,__>
3(:}(1.+9—§(x—4]) d](__EXH?)

3(yt9) = }%)("4) 2y= ~Sx + 34
3y+21 = x~¢ +5¢  *Sx =34

‘35"21 '33’?-7 ’ﬂ

7. Find the x and y infercepts of the following linear functions.

q) 4x-2y-10=0 p) X +4y-12=0
x-int (y=0) y-nt (x=0) oL-tint . y-int
4y -2(0)-1030 4-(0)-25-40 =0 e+ 4{0) -12=0 2(0) "'43"7—"’0
Y -0 =0 ’25"030 Ie-12:=0 48-"' S0
10 +0 +10 +l0 HL 412 412 412
-2y =
eelt e Ixen Sty =1
9 1 s
x= 35 @ x=L£ P
8. Determine the slope of a line with the following equation: 7 @
q) 3¥-2y+7=0 rewrite in slope — c) dx+3y-18=0
infercept  form Sx+3y ~18 = 0
3x-2y+1:0 =5« +1B -Seed
-3¢ =T -3e-1 3y=-5x+18
3 3 3
c2y =3k p So the slope
-y =2 1 " ys= _%& +6 is -S
So, ‘the slope 3
y=3x+] is 2
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?. Graph the following linear functions.

2
o y=5=-3(x+3) rewrite in slope -
‘interce orm
oot ot f
3 or
S +5 vse slope "%
end Po'!r\‘i‘ (-3,5)
e-2x+3
y 3x+
p) ~2¥—6=3x rewrite in slope-
+H to iMercept form
:2_3‘-'_31""_9.
-2 -2 =2
=-3,_3
=73

c) #-8y+24=0  reypride in slope-
=4y W -t intercept form

=8y = T2 or
-8 -3 -3 = .
ye Lu+3 find v 4 y infercepts
»-int (y=0) y-int. (x=0)
_ - 4(0) -831-!-‘!-‘
4v -8(0) +24 =0 ~8y+24 -
4x+24 =0 -84 ’7—"'
-0 - -8y = -2
&x & :H Xz -6 -:53 -8

Addlhonul Pracilce JO2AS=T 37y, M -tt—tt

(0,3)

(-35)

(0,3

y=3

p-388 * I-4, 0ab,7,9,11, 13,16,18,22, 2
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